
                        Basic:   __________/100 Questions

Pass Mark=70%

Basic Qualification

Canadian Amateur Radio Operator

Examination Answer Sheet

Name of Candidate: Date of Exam: (YYYY-MM-DD)

Instructions: Place an 'X' in the box corresponding to the letter of the correct answer to each question. If corrections are made, 
the incorrect answer must be completely blacked out, otherwise a mark will not be awarded for that question. Basic 
examinations consist of 100 questions. One mark is awarded for each correct answer. The pass mark is 70%. Pass mark for 
Basic with Honours = 80%. All examinations are 'closed' book.

Mark obtained: ___________% 

Innovation, Science and 
Economic Development Canada

Innovation, Sciences et 
Développement économique Canada
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